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Write the trigonometric ratios for the triangle shown below. 

 

 

 

1. 𝒔𝒊𝒏(𝑨) =  ________    

 

 

2. 𝒄𝒐𝒔(𝑨) =  ________    

 

 

3. 𝒕𝒂𝒏(𝑨) =  ________    

 

     

4. 𝒔𝒆𝒄(𝑨) =  ________    

 

     

5. 𝒄𝒐𝒔𝒆𝒄(𝑨) =  ________    

 

     

6. 𝒄𝒐𝒕(𝑨) =  ________    
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Find the unknown variable in each triangle. Round the answer to the nearest tenth. 

1.  

                
 

          

2.  

                
 

 

3.  

                
 

 

4.  
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ANSWERS: 

Write the trigonometric ratios for the triangle shown below. 

 

 

 

1. 𝒔𝒊𝒏(𝑨) =  ____
𝟑

𝟓
____    

 

    𝒔𝒊𝒏(𝑨) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 

   𝒔𝒊𝒏(𝑨) =
𝟔

𝟏𝟎
=

𝟑

𝟓
 

2. 𝒄𝒐𝒔(𝑨) =  ____
𝟒

𝟓
____    

 

    𝒄𝒐𝒔(𝑨) =  
𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕

𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 

   𝒄𝒐𝒔(𝑨) =
𝟖

𝟏𝟎
=

𝟒

𝟓
 

3. 𝒕𝒂𝒏(𝑨) =  ____
𝟑

𝟒
____    

 

    𝒕𝒂𝒏(𝑨) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕
 

 

   𝒕𝒂𝒏(𝑨) =
𝟔

𝟖
=

𝟑

𝟒
 

4. 𝒔𝒆𝒄(𝑨) =  ____
𝟓

𝟒
____    

 

    𝒔𝒆𝒄(𝑨) =  
𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆

𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕
=

𝟏

𝒄𝒐𝒔(𝑨)
 

 

   𝒔𝒆𝒄(𝑨) =
𝟏
𝟒

𝟓

=
𝟓

𝟒
 

5. 𝒄𝒐𝒔𝒆𝒄(𝑨) =  ____
𝟓

𝟑
____    

 

    𝒄𝒐𝒔𝒆𝒄(𝑨) =  
𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆

𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆
=

𝟏

𝒔𝒊𝒏(𝑨)
 

 

   𝒄𝒐𝒔𝒆𝒄(𝑨) =
𝟏
𝟑

𝟓

=
𝟓

𝟑
 

6. 𝒄𝒐𝒕(𝑨) =  ____
𝟒

𝟑
____    

 

    𝒄𝒐𝒕(𝑨) =  
𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕

𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆
=

𝟏

𝒕𝒂𝒏(𝑨)
 

 

   𝒄𝒐𝒕(𝑨) =
𝟏
𝟑

𝟒

=
𝟒

𝟑
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Find the unknown variable in each triangle. Round the answer to the nearest tenth. 

1.  

                
 

         𝒔𝒊𝒏(𝑪) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 

       𝒔𝒊𝒏(𝟑𝟓°) =
𝒙

𝟏𝟏
 

 

       𝒙 = 𝟏𝟏 × 𝒔𝒊𝒏(𝟑𝟓°)  

 

       𝒙 = 𝟔. 𝟑 

2.  

                
 

         𝒕𝒂𝒏(𝒁) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕
 

 

       𝒕𝒂𝒏(𝟒𝟓°) =
𝟗

𝒚
 

 

       𝒚 =
𝟗

𝒕𝒂𝒏(𝟒𝟓°)
=

𝟗

𝟏
  

 

       𝒚 = 𝟗 

3.  

                
 

         𝒔𝒊𝒏(𝒛) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒉𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 

       𝒔𝒊𝒏(𝒛) =
𝟗

𝟏𝟏
 

 

       𝒛 = 𝒔𝒊𝒏−𝟏(𝟎. 𝟖𝟏)  

 

       𝒛 = 𝟓𝟒. 𝟗° 

4.  

                
 

         𝒕𝒂𝒏(𝒙) =  
𝒐𝒑𝒑𝒐𝒔𝒊𝒕𝒆

𝒂𝒅𝒋𝒂𝒄𝒆𝒏𝒕
 

 

       𝒕𝒂𝒏(𝒙) =
𝟗

𝟗
 

 

       𝒙 = 𝒕𝒂𝒏−𝟏(𝟏)  

 

       𝒙 = 𝟒𝟓° 

 


